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Abstract of the contribution: This paper addresses a bearer handling issue relating to realization of Dual Connectivity (Small Cell enhancement) and suggests discussing whether or not this issue is a real problem to solve.
1. Discussion

Discussion about SA2 impact of dual connectivity was required at the last SA Plenary meeting and SA2 has started e-mail discussion accordingly. General agreement from e-mail discussion is that 1A addresses more impact to SA2 than 3C option and the analysis is in progress. In this paper, sourcing company raises an issue on potential bearer handling problem when the dual connectivity is implemented and proposes to discuss further in SA2.
How an access network decides serving eNB between MeNB or SeNB
It is assumed that X2-handover procedure (see the Annex) will be reused for the path switch of dual connectivity even many part of this procedure should be modified. Following figure depicts the predicted procedure of Path switch procedure for dual connectivity. We can simply assume that a MeNB decides the path switch of certain radio bearer (E-RABs). In this case, whole DRBs (Data Radio Bearer) can be offloaded to a SeNB except SRB (Signalling Radio Bearer).
At first, a MeNB decides the path switch of E-RABs. It is assumed that the MeNB may use the load status of MeNB and/or SeNB. Also the MeNB may use E-RAB level QoS parameters such as QCI, UE-AMBR and whether the E-RAB is GBR or Non-GBR. A SeNB may use ARP information for admission control of corresponding E-RABs.
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A bearer type (default or dedicated) is transparent to an access network
Currently, TS 23.401 states MME behaviour when a MME receives Path Switch Request message from a target eNB during X2-handover procedure as below. If the target eNB does not admit default bearer then the MME shall perform PDN disconnection or MME initiated detach procedure.
5.5.1.1.2
X2-based handover without Serving GW relocation                                      If the default bearer of a PDN connection has not been accepted by the target eNodeB and there are multiple PDN connections active, the MME shall consider all bearers of that PDN connection as failed and release that PDN connection by triggering the MME requested PDN disconnection procedure specified in clause 5.10.3.


If none of the default EPS bearers have been accepted by the target eNodeB or there is a LIPA PDN connection that has not been released, the MME shall act as specified in step 6.

Since the distinction between a default bearer and a dedicated bearer is transparent to an access network, a Target eNB may not admit the default bearer even this would result in PDN disconnection or detach of the UE. Moreover, a MME can detect Path Switch Failure after an UE already moves to the target eNB.
Sourcing company does not have clear understanding on the background why the bearer type (default or dedicated) is transparent to the access network. However even the bearer type is hidden to eNB, the target eNB may deduce whether the E-RAB is a default bearer or a dedicated bearer based on a E-RAB level QoS parameter. If the E-RAB is a GBR, it is not a default bearer. Besides if an ARP of the default bearer is higher than other non-GBR bearer, this E-RAB (default bearer) would not be rejected by the target eNB.
However it is not sure that Dual Connectivity is also same situation with X2-handover. A Path switch of Dual connectivity would require more flexible and dynamic operation (i.e. switching from MeNB to SeNB and vice versa. switching from SeNB to SeNB, switching from SeNB to new MeNB). Generally a SeNB may not be wide coverage area compared with a MeNB and more frequent path switching may be required. Therefore the path switch failure cases as mentioned above due to release of default bearer may not be a negligible problem for dual connectivity.
2. Proposal and Conclusion

In this paper, the potential issue of a path switch for dual connectivity has been explained and proposed to discuss as below.
Proposal. It is proposed to discuss about the potential bearer handling issue of dual connectivity due to a bearer type (default or dedicated) is transparent to an access network.
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